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13 The equation of the plane passing through three given points can be given by -2
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Performing elementary row operations R2 ~R1-R2 and R3 —R1-R3, we get  Now, the equation of the ine passing through two given points s
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2 - At the point of intersection, these points satisfy the equation of the plane 2x+y+2-7=0.

=x=(-A+3), y=(A-4), z=(6A-5)

At the point of intersection, these points satisfy the equation of the plane 2x+y+z-7=0.
Putting the values of x, y and z in the equation of the plane, we get the value of A.
2(-A+3)+(A-4)+(6A-5)-7=0

=-2A+6+A-4+6A-5-7=0
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Thus, the point of intersection is P(1, -2, 7).
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P(4, )- o+ P = andP(A;)

where 4, Az and 4, denote the three typcs of flower seeds.
LetE be the event that a seed germinates and E' be
the event that a seed does not germinate.
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Foot of perpendicular is (Br+2,—r+3,-r+7).
Substituting this in the coordinates of M, we get
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